
N = 2353
2353 circles in a circle

radius =   0.019338081330
ratio  =  51.711438324343

density  = 0.879931149541
contacts = 5452
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N = 2354
2354 circles in a circle

radius =   0.019331657384
ratio  =  51.728622132144

density  = 0.879720348349
contacts = 5157
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N = 2355
2355 circles in a circle

radius =   0.019340422689
ratio  =  51.705178116850

density  = 0.880892341771
contacts = 3918
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N = 2356
2356 circles in a circle

radius =   0.019335451492
ratio  =  51.718471659643

density  = 0.880813416418
contacts = 4731
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N = 2357
2357 circles in a circle

radius =   0.019331478712
ratio  =  51.729100236378

density  = 0.880825205068
contacts = 4178
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N = 2358
2358 circles in a circle

radius =   0.019314647528
ratio  =  51.774178046556

density  = 0.879665126293
contacts = 4308
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N = 2359
2359 circles in a circle

radius =   0.019313201952
ratio  =  51.778053296281

density  = 0.879906456591
contacts = 4443
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N = 2360
2360 circles in a circle

radius =   0.019309372816
ratio  =  51.788321119362

density  = 0.879930433357
contacts = 4376
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N = 2361
2361 circles in a circle

radius =   0.019307014988
ratio  =  51.794645658068

density  = 0.880088314278
contacts = 4253
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N = 2362
2362 circles in a circle

radius =   0.019306310365
ratio  =  51.796536007673

density  = 0.880396810234
contacts = 4272
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N = 2363
2363 circles in a circle

radius =   0.019304623347
ratio  =  51.801062472114

density  = 0.880615624314
contacts = 4157
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N = 2364
2364 circles in a circle

radius =   0.019305998054
ratio  =  51.797373915342

density  = 0.881113769855
contacts = 4251
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